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M.A. (Part – II) Examination, 2010
ECONOMICS

EC – 13 : Agricultural Economics (85 Pattern)

Time : 3 Hours Max. Marks : 80

N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.
4) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any ten) : 20

1) State two objectives of Public distribution system.

2) Define agricultural economics.

3) State two obstacles in modernization of agriculture.

4) What is livestock productivity ?

5) What is Farm Budgeting ?

6) What do you mean by land reforms ?

7) Define unorganized capital market.

8) What is regulated markets ?

9) What is cropping pattern ?

10) Define sustainable agriculture.

11) What is Agri-business ?

12) What is food security ?

13) State two problems of marginal farmers.

P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10

1) Explain the nature of agricultural economics.

2) Explain the drawbacks of collective farming.

3) What is sustainable agriculture ? Explain the contributing factors of sustainable

agriculture.

4) State the nature of crop insurance.

3. Answer the following questions in 150 words each (any two) : 20

1) Explain the relation between agricultural development and environment

problems.

2) Explain the role of land reforms in agricultural development.

3) What is terms of trade ? Explain the nature of terms of trade between

agricultural and non-agricultural prices.

4) Explain the role of Regional Rural Banks in rural credit.

4. Answer the following questions in 500 words each (any two) : 30

1) What is production function ? Explain the laws of return with respect to size

of Farm.

2) Critically evaluate the role of NABARD in agricultural credit. Suggest the

measures to improve it.

3) What are the objectives of agricultural price policy ? Evaluate the agricultural

price policy of government of India.

4) Evaluate the impact of World Trade rganization on Indian agriculture.
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M.A. (Part – I) Examination, 2010
ECONOMICS

EC – 3 : Indian Economic Policy
(85 Pattern)

Time : Three Hours Max. Marks : 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Answers should be precise and to the point.
iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any ten) : 20

1) Define economic development.

2) State two components of social infrastructure.

3) What are the types of grass-root organisation for development ?

4) Define poverty.

5) What is stock exchange ?

6) Define food security.

7) What is public sector enterprise ?

8) What is Industrial productivity ?

9) Define money market.

10) What is foreign exchange rate ?

11) Define balance of payments.

12) What is privatisation ?

13) State two adverse effects of World Trade Organisation on Indian agriculture.

P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10

1) Explain the role of state in economic development.

2) What are the causes of inequality in India ?

3) Briefly explain the Land Reforms in India.

4) What are the causes of adverse balance of payment in India ?

3. Answer the following questions in 150 words each (any two) : 20

1) Examine the Industrial policy 1991 in India.

2) Explain the recent changes in money market.

3) Explain the nature and causes for environmental imbalance in India.

4) What are the effects of W.T.O. on agriculture sector ?

4. Answer the following questions in 500 words each (any two) : 30

1) Explain in detail the indicators of economic development.

2) Explain in detail the causes and effects of population Explosion in India.

3) Analyse the significant changes in the structure and direction of Indias foreign

trade since 1991.

4) Explain the role and effects of multi-national corporation.
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M.A. Examination, 2010
ECONOMICS

EC – 9 : Quantitative Methods
(85 Pattern)

Time: 3 Hours Max. Marks: 80

          N.B. : 1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.
4) Use of non programmable calculator is allowed.

1. Solve any ten of the following : 20

1) Find the missing number and give the sum using suitable formula

1 + 3 + 9 + * + 81 + 243 + * + 2187

2) Solve

⎥
⎦

⎤
⎢
⎣

⎡
=⎥

⎦

⎤
⎢
⎣

⎡
− 174

032
5

3) What is a quadratic function ?

4) Simplify

4

1
3

5

2
36of

4

1
108 ×++

5) Solve

2xx

6x5x
2

2
Lt

3x +−
++

→

6) Find ∫ dxxlog .

7) Find the differential equation of all straight lines passing through the origin.

P.T.O.
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8) Find the probability of drawing two kings successively from a pack of 52
cards if the card is replaced.

9) Expand with the help of binomials (1 + x)5

10) If the regression coefficient of x on y is 6
1  and that of y on x is 2

3 , what is
the value of the correlation coefficient between x and y ?

11) Distinguish between type I and type II error.

12) Explain the term ‘mutually exclusive events’.

13) State the average of first five prime numbers.

2. Solve any two of the following : 10

1) The incomes of a group of 5000 persons were found to be normally distributed
with mean Rs. 900 and S.D. Rs. 75. What was the highest income the poorest
200 ?

2) The total cost function ‘C’ for output ‘x’ is given by 
2

35
x

5

2
C +=  . Thus

find, (1) Cost when output is 4. (2) Average cost when output is 10 and
(3) Marginal Cost when output is 3.

3) An automobile dealer sells two car models. Standard and deluxe. Each is
available in one of the two colours, white and red. His sales for the months
of January and February are given by the matrices.

,
4

1

3

2

dRe

White
A

deluxedardtans

⎥
⎦

⎤
⎢
⎣

⎡
= ⎥

⎦

⎤
⎢
⎣

⎡
=

3

1

2

3

R

W
B

deluxedardtans

Find his total sales for each model and colour for both months.

4) Find the coordinates of the point of intersection of the two lines.

Given :

a) 12y5x3

9y3x2

=+
=+

b) 8y2x3

24yx2

=−
=+
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3. Solve any two of the following : 20

1) If ⎥
⎦

⎤
⎢
⎣

⎡
=⎥

⎦

⎤
⎢
⎣

⎡
=

52

13
B,

54

32
A

Find )BA(,)AB(,BA,BA ′+′′′

2) A survey of 320 families with 5 children each revealed the following
distribution

No. of Boys     : 5 4 3 2 1 0

No. of Girls     : 0 1 2 3 4 5

No. of Families : 14 56 110 88 40 12

Is the result consistent with the hypothesis that male and female birth are
equally probable ?

3) Calculate the correlation coefficient

Supply : 112 125 126 118 118 121 125 125 131 135

Price : 106 102 102 104 98 96 97 97 95 90

4) Maximize z = 4x + 2y

Subject to 2x + 3y ≤  18

x + y ≥  10

x, y ≥  0

4. Solve any two of the following : 30

1) After an advertising campaign a product has sales rate f(t), given by
f(t) = 1000e– 0.5t, where ‘t’ is the number of months since the close of the
campaign, find,

a) The total cumulative sales after 3 months

b) The sales during the fourth month

c) The total sales as a result of the campaign



2) Using Cramer’s rule-solve.

3x – 4y + 5z = 25

2x + 3y + z = 04

x – y + 2z = 09

3) A husband and wife appeared in an interview for two vacancies in the same

post. The probability of husband’s selection is 7
1  and that of wife’s selection

is 5
1 . What is the probability that

a) Both of them will be selected

b) Only one of them will be selected

c) None of them will be selected.

4) The AM and S.D. of the values of 100 items in a group are 80 and 5

respectively. In a second group 25 items and each item has a value equal to

60. Find the A.M. and S.D. of the 125 items of the two groups taken together.

______________
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M.A. Examination, 2010
ECONOMICS

EC – 12 : Quantitative Methods
(85 Pattern)

Time: 3 Hours Max. Marks: 80

          N.B. : 1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.
4) Use of calculator is allowed.

1. Solve any ten of the following : 20

1) Simplify 

6

5
1

1
1

+
+ .

2) If 90x
64.24

617 =+ , Find ‘x’.

3) y = x(x + 1) for x > 0. Examine the continuety.

4) Find the probability that in a random arrangement of the letters of the word

‘DAUGHTER’ the letter ‘D’ occupies the first place.

5) An artical is sold at 25% profit, what is the ratio of cost price to selling price ?

6) Find 
5x

3x2x
2

3
Lt

2x
+

++
→

7) Define notation of function.

8) Define quartile deviation.

9) What is sampling technique ?

-5-



10) A result such as r2 = 1 – (650/500) is not possible. Why ?

11) State a two tailed test ?

12) If ( )B
AP  = P(A) then A and B are independent events. Examine the validity

of this statement.

13) State type I and type II errors.

2. Solve any two of the following : 10

1) Let ⎥
⎦

⎤
⎢
⎣

⎡
=⎥

⎦

⎤
⎢
⎣

⎡
=

21

34
Band

43

21
A  prove that BA)BA( ′+′=′+ .

2) A manufacturer earns Rs. 4,500, in the first month and Rs. 6,000 in the
second month. On plotting these points the manufacturer observes a linear
function may fit the data. Find the linear function that fits the data and predict
the earnings of the third month.

3) Differentiate

4

7x5

5x2
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
−
+

 with respect to ‘x’.

4) The numbers 3.2, 5.8, 7.8 and 4.5 have frequencies x, (x + 2), (x + 3) and
(x + 6) respectively. If the arithmetic mean is 4.876, find ‘x’.

3. Solve any two of the following : 20

1) The demand function for commodity A is given by XA = f(PA, PB, PC) =
63.3 – 1.9PA + 0.2 PB + 0.5 PC
i) Find the partial elasticities of demand for A with respect to prices of other

commodities B and C.
Estimate the partial elasticities for P(A)  = 10, PB = 8, PC = 7.

2) If ⎥
⎦

⎤
⎢
⎣

⎡
=⎥

⎦

⎤
⎢
⎣

⎡ −
=

17

3
B,

54

32
A  find the matrix ‘X’ such that, AX = B.

[3704] – 6 -6- �������



3) Six married couples are in a room. If two persons are chosen at random, find
the probability that
1) They are married to each other
2) One is male and one is female

4) Maximize z = 10x + 12y

Subject to x+ y ≤  60

x – 2y ≥  0

x, y ≥  0

4. Solve any two of the following : 30

1) If the total cost function of a firm is

10x28x5x
3

1
C 23 ++−=

Where ‘C’ is the total cost and ‘x’ is the output. A tax is imposed at the rate
of Rs. 2 per unit, and the producer adds it to his cost. If the demand function
is given by  P = 2530 – 5x, where Rs. ‘P’ is the price per unit of output, find
the profit maximising output and the price at that level.

2) A book publisher finds that the production cost of a book is Rs. 30, and
fixed cost per year is Rs. 25,000. If each book is sold at the rate of Rs. 50,
find the cost function, the revenue function and the minimum number of
books to be sold per year in order that there is no loss.

3) The equilibrium condition for 3 related markets is given by

11P1 – P2 – P3 = 31

–P1 + 6P2 – 2P3 = 26

P1 – 2P2 + 7P3 = 24

Using matrix inversion find the equilibrium price for each market.

4) Explain the following terms in details, give examples, draw neat diagrams
wherever necessary.
1) Critical Region
2) Most power full test
3) The population mean.

______________
B/I/10/515
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M.A. (Part – I) Examination, 2010
ECONOMICS

EC-1 : Micro Economics Analysis
(85  Pattern)

Time : 3 Hours Max. Marks : 80

             N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw diagrams wherever necessary.

1. Answer in twenty words (any ten) : (10×2=20)

1) What is production function ?

2) Define Micro Economics.

3) What do you mean by cardinal utility ?

4) What is Gross interest ?

5) What is excess capacity ?

6) Define Quasi rent.

7) What are cartels ?

8) Define cross elasticity.

9) Define supply.

10) State any two features of indifference curve.

11) Define duopoly.

12) State any two basic economic problems.

13) What is collective bargaining ?

2. Answer in 50 words (any two) : (2×5=10)

1) Explain the innovation theory of profit.

2) State the features of price mechanism.

3) State marginal rate of substitution.

4) What do you mean by price discrimination ?
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3. Answer in 150 words (any two) : (2×10=20)

1) Bringout the importance of Micro Economics.

2) Discuss the Modern theory of Rent.

3) State and explain the revealed preference theory of demand.

4) Critically examine the liquidity preference theory of interest.

4. Answer in 500 words (any two) : (2×15=30)

1) Explain the Ricardian theory of Rent.

2) Discuss fully the Baumal’s sales revenue maximization model.

3) What is Monopolistic competition ? Explain shortrun equilibrium in
monopolistic competition.

4) What are the features of Duopoly ? Explain the Cournot’s Duopoly model.
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M.A. (Part – II) Examination, 2010
ECONOMICS

EC – 6 : INTERNATIONAL TRADE AND FINANCE
(85 Pattern)

Time: 3 Hours Max. Marks: 80

        N.B. : i) Attempt all questions.
ii) Figures to the right indicate full marks.
iii) Answer should be precise and to the point.

1. Answer the following questions in 20 words each (any ten) : 20

1) What is meant by Leontif’s paradox ?

2) What is immiserising growth ?

3) Define Intra-industry trade.

4) What is tariff ?

5) Define terms of trade.

6) What is fixed exchange rate ?

7) Define Devaluation.

8) What is Foreign trade multiplier ?

9) Define Balance of payments.

10) State two objectives of SAPTA.

11) State two functions of World Bank.

12) What do you mean by composition of foreign trade ?

13) What is export promotion ?

2. Answer the following questions in 50 words each (any two) : 10

1) Explain the merits of flexible exchange rate.

2) State the case for free trade policy.

3) State the static gains of International Trade.

4) State the objectives of SAARC.
P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20

1) Explain the difference between internal trade and international trade.

2) Explain the merits of fixed exchange rate.

3) Explain the effects of tariffs on the terms of trade.

4) Explain the functions of World Trade organisation.

4. Answer the following questions in 500 words each (any two) : 30

1) State and explain the comparative cost theory of International Trade.

2) What are the causes of disequilibrium in the balance of payments ? Evaluate
the methods used to correct disequilibrium in the balance of payments.

3) Discuss the objectives and achievements of SAARC.

4) State and explain the functions of International Monetary Fund.
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M.A. (Part – I) Examination, 2010
ECONOMICS

EC-2 : Public Economics
(85  Pattern)

Time : 3 Hours Max. Marks : 80

             N.B.: 1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.
4) Draw neat diagrams wherever necessary.

1. Answer the following questions in  20 words each (any ten) : 20

1) Define ‘Merit Goods’.

2) What is public sector ?

3) Define Public Expenditure.

4) What is zero-base budgeting ?

5) Give any two principles of public debt management.

6) Define Regressive Tax.

7) What is discretionary fiscal policy ?

8) Give any two functions of Finance Commission in India.

9) Define ‘Fiscal Policy’.

10) What is programme budgeting ?

11) What is Economic stabilization ?

12) Give two revenue sources of local bodies.

13) What is ‘public debt’ ?

2. Answer the following questions in 50 words each (any two) : 10

1) Explain the role of Government in Economy.

2) Explain Wagner’s law of increasing state activity.

3) Explain Balanced budget multiplier.

4) Distinguish between direct and indirect taxes.
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3. Answer the following questions in 150 words each (any two) : 20

1) What is Trade off between equity and efficiency in taxation ?

2) Explain the types of public debt.

3) Distinguish between public goods and private goods.

4) Explain the interdependence of monetary and fiscal policy.

4. Answer the following questions in 500 words each (any two) : 30

1) Explain the theory of ‘Optimal Taxation’.

2) Explain the objectives of fiscal policy in a developing country.

3) Explain critically Wiseman-Peacock hypothesis of public expenditure.

4) State the recommendations of 11th Finance Commission.
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M.A.  (Part – II) Examination, 2010
ECONOMICS

EC-4 : Macro Economic Analysis
(85  Pattern) (Old)

Time : 3 Hours Max. Marks : 80

             Note : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw diagrams wherever necessary.

1. Answer in 20 words (any ten) : 20

1) What is net national income at factor cost ?

2) Define IS curve.

3) What is marginal efficiency of capital ?

4) Define high powered money.

5) What is consumption function ?

6) State Fishers transaction equation.

7) What is liquidity trap ?

8) State three motives of demand for money.

9) Define monetary policy.

10) What is R.B.I’s definition of money supply ?

11) Define velocity of money.

12) What is permanent income ?

13) What is induced investment ?

2. Answer in 50 words (any two) : 10

1) Explain the circular flow of income in a two sector economy.

2) Explain Tobin’s modified Philip’s curve.

3) State the effects of changes in money supply on LM curve.

4) Explain the causes for the revival of monetarism.
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3. Answer in 150 words (any two) : 20

1) Explain the Fishers quantity theory of money.

2) Explain the lonable fund theory of interest.

3) Explain the Keynecian psychological law of consumption.

4) State and explain Tobin’s portfolio theory.

4. Answer the following questions in 500 words each (any two) : 30

1) Critically examine the quantitative credit control policy of RBI.

2) Explain relative effectiveness of monetary and fiscal policy with IS-LM curves.

3) What is accelerator ? Explain fully how it affects investments.

4) What is marginal efficiency of capital ? Explain short run and long-run factors
affecting the marginal efficiency of capital.
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M.A. (Part – II) Examination, 2010
ECONOMICS

EC – 5 : Economics of Growth and Development (85 Pattern)(Old)

Time: 3 Hours Max. Marks: 80

        N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Answers should be precise and to the point.
iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any ten) : 20

1) Define the concept of Economic Growth.

2) What is meant by embodied technical progress ?

3) What is relative poverty ?

4) What is food security ?

5) What is Surplus Value ?

6) What is balanced growth ?

7) State two obstacles in using new technology in agriculture.

8) Define ‘Balance of Payments’.

9) What is free trade ?

10) What is Micro-level planning ?

11) State two difficulties in measuring the economic development.

12) State two implications of Globalisation.

13) What is ‘Human Development Index (HDI) ?

2. Answer the following questions in 50 words each (any two) : 10

1) State the assumptions of Domar’s Model of economic growth.

2) Examine the relationship between population and environment.

P.T.O.
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3) Explain the concept of ‘technical dualism’.

4) Explain the concept of ‘sustainable agriculture.

3. Answer the following questions in 150 words each (any two) : 20

1) Explain the Pasinetti’s model of economic growth.

2) Describe crisis in capitalism.

3) Explain Prebisch, Singer and Myrdal thesis.

4) Explain fully Big-Push theory of economic growth by Rosenstein Roden.

4. Answer the following questions in 500 words each (any two) : 30

1) What is Human Resource Development ? Explain the role of government in
human resource development.

2) Explain critically the Malthusian theory of economic development.

3) Critically examine the role of International Trade in economic development.

4) Evaluate achievements and failures of Five Year Plans in India.
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M.A. (Part – II) Examination, 2010
ECONOMICS

EC – 14 : Financial Institutions and Markets
(85 Pattern)

Time : 3 Hours Max. Marks : 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Answer should be precise and to the point.

1. Answer the following questions in 20 words each (any ten) : 20

1) Define Money Market.

2) What is Financial Market ?

3) What is Financial Liberalization ?

4) What is meant by market risk ?

5) What is Finance Ratio ?

6) What is stock market ?

7) What is diversification of commercial banks ?

8) What is treasury bill market ?

9) State any two objectives of S.I.D.B.I.

10) What is call money market ?

11) What is Bank Rate ?

12) What is foreign direct investment ?

13) State two functions of A.D.B.

2. Answer the following questions in 50 words (any two) : 10

1) Explain the concept of financial integration.

2) What are the indicators of financial development ?

3) What are the main functions of EXIM Bank ?

4) State the main functions of ECGC of India.

P.T.O.
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3. Answer the following questions answer in 150 words (any two) : 20

1) Explain fully the functions of Financial Sector.

2) Explain the role of Small Industrial Development Bank of India (SIDBI).

3) Explain the promotional role of Reserve Bank of India.

4) Explain the role of U.T.I. in economic development.

4. Answer the following questions in 500 words each (any two) : 30

1) Critically evaluate the banking sector reforms in India.

2) Critically evaluate the performance of Commercial Banks 1970.

3) Explain fully the functions and working of S.E.B.I.

4) Evaluate the working and performance of Industrial Credit and Investment
Corporation of India (I.C.I.C.I.).
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M.A. (Part – II) Examination, 2010
ECONOMICS

EC – 15 : Computer Application in Economic Analysis
 (85 Pattern)

Time: 3 Hours Max. Marks: 60

          N.B. : i) All questions are compulsory.

ii) Figures to the right indicate full marks.

iii) Answer should be precise and to the point.

iv) Draw neat diagrams wherever necessary.

1. Attempt any seven of the following : (2×7=14)

1) List any two types of computer.

2) List any two commonly used search engine.

3) What is file ?

4) What is linear regression ?

5) What is software ?

6) What is e-trailers ?

7) What do you mean by T+2 delivery transaction.

8) What is digital currency ?

9) What is e-cheque ?

10) What is encryption ?

2. Attempt any two of the following : (2×4=8)

1) Explain any two input devices.

2) What are the benefits of Internet to business ?

P.T.O.
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3) What are the advantages of electronic trading ?

4) What is electronic transaction ? How this transaction is validated ?

3. Attempt any three of the following : (3×6=18)

1) Explain the merits and demerits of least square method.

2) List and explain any two security procedure.

3) What is the need of secondary storage devices ? Explain the organisation of

floppy disk.

4) Write a note on web browser and search engine.

5) “On line shopping can save time and money”, are do you agree with the

statement ? Give example to support your answer.

4. Attempt any one of the following : (1×20=20)

1) Explain B2C, C2B, B2B models with their applications.

2) Explain the application of computer in economic data analysis.

______________
B/I/10/465
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M.A. (Part II) Examination, 2010
ECONOMICS

EC – 16 : History of Modern Economics Analysis
 (85 Pattern)

Time: 3 Hours Max. Marks: 80

          N.B. : i) Attempt all questions.

ii) Figures to the right indicate full marks.

iii) Answers should be precise and to the point.

1. Answer the following questions in 20 words each (any ten) : 20

i) State Samuelson’s definition of revealed preference.

ii) What is the Hicksian definition of marginal rate of substitution ?

iii) State Ragner Frisch’s definition of Dynamic Economics.

iv) What is Lewi’s definition of capitalist sector ?

v) State any two assumptions of Ohlin’s theory of international trade.

vi) State any two problems of Green Revolution described by Myrdal.

vii) Define physical criteria of factor abundance.

viii) What is Kantorovich’s definition of decentralisation ?

ix) State any two assumptions of Solow’s model of economic growth.

x) What is Kuznet’s definition of double counting ?

xi) Give any two disadvantages of regulations suggested by Stigler.

xii) What is Stone’s definition of National Income ?

xiii) What is Timbergen’s definition of static economics ?

2. Answer the following questions in 50 words each (any two) : 10

i) What are the properties of Hicksian indifference curve ?

ii) Explain the assumptions of input-output analysis.

iii) Explain the characteristics of Hayek’s ‘Neutral Money Policy’.

iv) Explain Arrow’s conditions of social choice.

P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20

i) Explain Amartya Sen’s applied approach to trade and welfare.

ii) Explain the Friedman’s theory of cash balance.

iii) Explain Meade’s approach to trade and welfare.

iv) “Social ownership of the means of production is only a necessary but not a
sufficient condition for efficient allocation of resources”. Discuss.

4. Answer the following questions in 500 words each (any two) : 30

i) Explain in detail the Leontiefs Input-Output analysis.

ii) Examine the portfolio theory of Tobin.

iii) What are the properties of indifference curve ? Explain the consumer’s
equilibrium described by Hicks.

iv) Explain in detail the Ohlin’s theory of international trade.
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______________
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M.A. (Part – I) Examination, 2010
ECONOMICS

EC – 7 : Industrial Economics
(85 Pattern)

Time : 3 Hours Max. Marks : 80

Note : 1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answer should be precise and to the point.

1. Answer the following questions in 20 words each (any ten) : 20

1) What is Industrial Economics ?

2) What is Industrial Location ?

3) Define small scale industry.

4) What is meant by rationalisation of industries ?

5) State two objectives of SFC’s.

6) Define public sector.

7) Give full form of ICICI.

8) What is price discrimination ?

9) State the two problems of cotton textile industry.

10) What is regional imbalance ?

11) Define co-operative sector.

12) What is industrial dispute ?

13) What do you mean by MNC’s ?

2. Answer in 50 words (any two) : 10

1) State the factors affecting growth of firm.

2) Explain the factors affecting industrial productivity.

3) What are the objectives of ICICI ?

4) Explain the importance of foreign direct investment.

P.T.O.
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3. Answer in 150 words (any two) : 20

1) What are the reasons of survival of small firm ?

2) Explain the role of MNC’s in India.

3) Explain the problems of cement industry.

4) What are the features of Indian industrial labour ?

4. Answer in 500 words (any two) : 30

1) Explain the Weber’s theory of industrial location.

2) Examine the role of working of IDBI.

3) What is industrial dispute ? Explain the causes and remedies of industrial
dispute.

4) Explain the present position and main problems of sugar industry in India.
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M.A. (Part – I) Examination, 2010
ECONOMICS (85 Pattern)
EC-8 : Labour Economics

Time: 3 Hours Max. Marks: 80

          N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

iii) Answers should be precise and to the point.
iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any ten) : 20

1) What is ‘Labour Market’ ?

2) What is Mobility of Labour ?

3) What is Bonus ?

4) What is Disguised Unemployment ?

5) What is meant by ‘Relative Poverty’ ?

6) Define the concept of ‘Trade Union’.

7) Define collective Bargaining.

8) State any two problems of child labour.

9) What is Exit Policy ?

10) State any two problems of female labour.

11) What is meant by ‘Labour Welfare’ ?

12) What is meant by ‘Industrial Disputes’ ?

13) Give the two objectives of ‘Second National Commission on Labour’.

2. Answer the following questions in 50 words each (any two) : 10

1) What are the methods of recruitment of labour ?

2) What are the measures to improve productivity of labour ?

3) Explain the concept of ‘social assistance’.

4) Write briefly the structure of ‘Labour Union’ in India.

P.T.O.



3. Answer the following questions in 150 words each (any two) : 20

1) Trace the productivity and wage relationship in India.

2) Explain the concept of bonus system and profit sharing.

3) Take a brief review of social security policies in India.

4) Discuss the state policy on Labour Welfare in India.

4. Answer the following questions in 500 words each (any two) : 30

1) Discuss the problems related to labour markets in India and suggest the measures
to improve it.

2) Assess the Indian National Wage Policy.

3) What are the causes of industrial disputes ? Discuss methods of their settlement.

4) State and explain the role of second National Commission of Labour.
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M.A.(Part I) Examination, 2010
ECONOMICS

EC – 10 : Econometrics
 (85 Pattern)

Time: 3 Hours Max. Marks: 80

          N.B. : i) Attempt all questions.

ii) Figures to the right indicate full marks.

iii) Answer should be precise and to the point.

iv) Use of calculator is allowed.

1. Attempt any ten of the following : 20

1) State Gauss-Markov theorem.

2) Define R2 and adjusted R2.

3) State properties of OLS estimators.

4) Define multicollinearity.

5) What is a ‘Logit Model’ ?

6) Define ‘Dummy Variables’.

7) Define ‘Instrumental variables’.

8) State briefly Koyak approach to distributed lag models.

9) State identification problem.

10) State order condition of identification.

11) What do you mean by stationary time series ?

12) State Random Walk Model.

13) State Hoteling’s T2-statistic.
P.T.O.
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2. Attempt any two of the following : 10

1) Compare economics, Econometrics and Mathematics.

2) Explain principle of least squares to estimate the linear equation of the form

X.Y β+α= .

3) Write a brief note on probit and tobit models.

4) Explain indirect least squares method for estimating simultaneous equation

models.

3. Attempt any two of the following : 20

1) State and explain different tests for testing stationarity of a stochastic process.

2) Explain Almon approach to distributed lag models.

3) Explain Box-Jenkin Methodology for forecasting time series.

4) Consider following two equation model of an industry

p = b11q + b12y

q = b21p + b22w + b23z

where w, y and z are exogenous. Are these equations exactly identified ? State

giving reasons.

4. Attempt any two of the following : 30

1) Consider the following data on advertisement cost in Th. Rs. (X) and sale of

product in lakhs Rs. (Y).

608350855246

848038926741

:

:

Y

X

obtain the least square regression line of Y on X and estimate sales when

advertisement cost is Rs.60,000. Also interprete the value of regression

coefficient.
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2) Obtain the equation of the plane of regression of X1 on X2 and X3 from the

following data.

5604080

801144

5949140228

231312

321

321

...
..

X.X.X

−=γ−=γ=γ
=σ=σ=σ
===

3) Consider the following model of demand and supply  :

Qd = a1 + b1P + c1Y

Qs = a2 + b2 P + c2Z

and Qd = Qs

Where Qd = quantity demanded Qs = Quantity supplied.

P = Price Y = disposable income.

Z = cost of major raw material.

Y and  Z are exogenous variables.

Determine the reduced form of these equations.

4) Write a note on ‘Heteroscedasticity’.

______________
B/I/10/425
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M.A. (Part – I) Examination, 2010
ECONOMICS

 EC-11 : Demography
(85 Pattern)

Time : 3 Hours Max. Marks : 80

          N.B. : i) Attempt all questions.
ii) Figures to the right indicate full marks.

iii) Answers should be precise and to the point.

1. Answer the following questions in 20 words each (any ten) : (20)

1) Define ‘Demography’.

2) What is population explosion ?

3) Define fertility.

4) State the meaning of ‘Optimum Population’.

5) What is Internal migration ?

6) Give two characteristics of Census.

7) Define ‘Death Rate’.

8) What is Child Mortality ?

9) State the meaning of ‘Life Expectancy’.

10) Give two objectives of child health policy.

11) What is meant by ‘Population projection’ ?

12) What is International migration ?

13) Define ‘Family welfare’.

2. Answer the following questions in 50 words each (any two) : (10)

1) What are the components of population growth ?

2) State the factors affecting distribution of population.

3) What are the salient features of 2001 Census of India ?

4) Explain the concept of ‘Woman Empowerment’.

P.T.O.
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3. Answer the following questions in 150 words each (any two) : (20)

1) Explain the factors affecting fertility in less developed countries.

2) Take a review of characteristics and methodology used for Census in India.

3) Explain in detail the characteristics of  National Family Health Survey – I.

4) Which are the changing characteristics of population in India ?

4. Answer the following questions in 500 words each (any two) : (30)

1) Explain the nature and scope of Demography and its relation to Economics,
Ecology and Sociology.

2) Explain in detail the causes of Migration.

3) Analyse the changing characteristics of population in India.

4) Critically evaluate Indian population policy.
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